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6. §~~1~IJ§jt8A1DJB!:m~(Overload) 0 (5%) 

7. ~~~1~~§jt8A1DJB~HI~(Override) 0 (5%) 

9. 	 ~6'5E--lE~!J5(~ijIJU int data[l 0] {10, 50, 30, 20, 90, 70, 80, 40, 60, 100} 0 g~ffl c BR~f~~-­
l~J:tPl~fF~JUlltr~[~7G~-fri~fC~JjJ~E 0 (~tuA 1 ' {~ffl=t3~tuA § f~1liJt ' U¥OW1J§pt;t~~[JjI~ 
tx~g~1l; ~tuA 2, 1~ffl=t3*tuA §f~1liJt, U¥DW=7tt~~~~tt(,~§~1l; *tuA-99 t=!1j~5*; ~~ 

. ,E§ 	while iIm~) (300/0)0 

§~~:t~¥l~1J5:t: g~~t~t~~1J5:t: 

1. 	 lJ§pt;f5!l~ 2. =7ttSll~ -99. ~5* 1. 	 lJ§pt;f~~ 2. =7tf~~ -99. ~5*
,tuA 

~A}gJ~:l ~A~J~:2 


*tuA§f~1l: 34 iUiA t~1l: 50 

~tutfj 

,tuA 

~tfj 

34 /fff{EO~~ijIJU cp 
'>'~~:t't5!l-al-1J ':t5~ ~ I : 

1. tf§rff5!l~ 2. =71J~W -99. ~5* 
,tuAmJ~:-99 

(~6*f!U~'tutfj) 

t~¥U tl1l50 
§~m~¥l~1J5:t: 
1 	 /.f§rff~.;s. 2 - - f~.;s. 99 £\±*. ~C ~. -lG ~ - . ,,'0 

*Jfu}Jj!J~:2 

*tuA§t~1l: 35 
34 /fffttiK~ijIJU cp 

, i 

',-. 
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10. Write a C program to solve the Towers of Hanoi problem. Use a recursive function with four 

parameters: move(int n, char pegl, char peg2, char peg3), n: the number of disks to be 

moved, peg]: the peg on which these disks are initially threaded, peg2: the peg to be used as a 

temporary holding area, peg3: the peg to which this stack of disks is to be moved. (20%) 

Input enter the number of disks: J. 
A 7 C (this means move one disk from peg A to peg C) 

Output 

A7B 
C7B 
A7C 
B7A 
B7C 
A7C 


